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Question: 1

Refer to the exhibit.

If a Layer 3 switch running OSPF in a VRF- lite configuration reports this error, which action can you
take to correct the problem?

A. Set mls cef maximum-routes in the global configuration

B. Add the vri-lite capability to the OSPF configuration.

C. Upgrade the Layer 3 switch to a model that can support more routes.

D. Configure the control plane with a larger memory allocation to support the Cisco Express
Forwarding Information Base.

Answer: A

Question: 2

Which two statements about 802.10 tunneling are true? (Choose two.)

A. It requires a system MTU of at least 1504 bytes.

B. The default configuration sends Cisco Discovery Protocol, STP: and VTP information.
C. Traffic that traversesthe tunnel is encrypted.

D. It is supported on private VLAN ports.

E. MAC-based QoS and UDLD are supported on tunnel ports.

F. Its maximum allowable system MTU is 1546 bytes.

Answer: A, E

Question: 3

When entering a question mark after bgp bestpath only three options are visible. Which two options
are valid BGP hidden options for the bgp bestpath command? (Choose two.)

A. bgp bestpath as-path multipath relax

B. bgp bestpath as-path ignore

C. bgp bestpath compare-all

D. bgp bestpalh localpref Ignore

Answer: A, B

Question: 4

Which protocol allows connections made by an NBMA network to dynamically learn connected
address?

A.PPP

8. NHRP

C. HDLC

D. POP

Answer: B

Question: 5

Refer to the exhibit.

If R1 contacts the RADIUS server but It unable to find the user name in the server database, how will
R1 respond?

A. It will prompt the user to enter a new usename.

B. It will attempt to contact the TACACS+ server.

C. It will deny the user access.

D. It will attempt to authenticate the user against the local database.

Answer: C

Question: 6

When you deploy DMVPN, what is the purpose of the command crypto is a kmp key ciscotest
address 0.0.0.0 0.0.0.0?

A. It is configured on hub and spoke router to establish peering

B. It is configured on hub to set the pre-shared key for the spoke routers

C. Itis configured on the spokes to indicate the hub router

D. It is configured on the Internet PE routersto allow traffic to traverse the ISP core

Answer: B

Question: 7

Get Certified In First Attempt

visit - https://certificationstime.com/


https://certificationstime.com/
https://certificationstime.com/updated/400-101-exam-dumps-pdf/

https://certificationstime.com/updated/400-101-exam-dumps-pdf/

Refer to the exhibit.

All routers are running EIGRP and the network has converged. R3 and R4 are configured as EIGRP
Stub. if the link between R1 and R3 goes down, which statement is true?

A. R1 sendstraffic destined to 192.168.0.100 via R2

B. R2 does not have a router to 192.168.0.0/24 in the routing table.

C. The prefix 192.168.0.0/24 becomesstuck-in-active on R4

D. R3 does not advertise 192.168.0.0/24 to R4 anymore

Answer: B
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